Nruncdbwlywl Gppnpn 2pgwith wdthnthnod
1. Quntp npdwé pybph wdtUwthnpp punhwuntp pwgdwwwwnhyn:

[12,8]=24
[778]=56
[4)5]=20
[3)11]=33
[5)12]=6O

2. Quntp npdwé pUtph wdtbwdté punhwunwp pwdwlwnpwnn:

(15,18)=3
(24,12)=12
(180,6)=6
(12,18)=6
(15)35)=5

3. Qnt’p eUh pninn Wwing pwdwlwnwplbnp.
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e Anudwnbp Yninnpwyubpp:

121 42 163
16 16 16
17 4 17+20 37
20727720 20

e Ywuwwnbp Yyninnpwyutph hwuntd:

33 12 33-12 21
18 18 18 18
23 2 23—-6 17
15 5 15 15

Ywwnwnbp pwgdwwwwnyned.



4 5 20
6 12-72
15 60
Y187 18

e Ywuwwnbp pwdwund:

24 4 24x7 168
10°7  10x4 40
14
6

7
6

e Qnudwptp fuwnp pYybnpp:

15 > +311—1816
19 19 19

e Ywuwwpnbp fuwnp pYbph hwunwd:

) 5 1 5 18x2+5  9x1+5 _ 41-28 _ 13
18 9 18 9 18 18

e Ywuwwptp fuwnp pUYGph pwquwwwnyned:
7 2

e Ywuwwnpbp fuwnp pYbph pwdwuncd:
4 8

6. unpwluwpnh pninp YnnEph GpupnLpynLbuutph gnedwpp
132 udJ E: Qunbt’p Upw Swjuwip:

7.

MuwwnnLdh inGupny UEpjujwgpne pn nLuncdbwljw Gppnpn
2ngwlh wfuwwnwpp

Uwuliulygt Gd wdtuwdujw Jwupbtdwnmhlijuywl $E2dnpkphl:
Ujn-ng



